BB EHENTRES (RH2EE) RIkE  NHERE
No. | | A | B |IRASEE | XH€%E| ES 1 = X H#E
12]4]3 0 6,264  —6,264|/XYa)—RH (v—)4B R BERMERE
2 (2] 4|10 2,200 -8,464|F)A—1)—ZXF (Fv/V) 4R BERMERE
2| 4| 27| 360000 351,536 | EBN & (LFHi5)
32| 4|27 3,838| 347,698|REHFEIMN (KH) 485 BENBAE
4 (2| 4]29 3,400 344.298|FSTHTEMN (KHE) 4A % BEHEAE
5(2|5]| 7 6,264 338,034|/X\Ya ) —ZAH (v—F)5A 5% BERMERE
62|5]13 2,200 335834|FYBR—1)—ZAF(Fv/V) 5AH BERMERE
7125 |25 3,400 332434|FmTHEMK (KH) 5A% ENBAE
82| 5|27 3,838| 328596|REHFEM (XHE) 585 BEHEAE
92|63 6,264 322,332|/\ya ) =R (v—F)6 A5 BERMERE
10| 2] 6 | 11 2,200 320,132|F)oB—1)—ZAF (Frv/V) 6AH BErMERE
12612 39,600 280,532| ) AFEHK ENBAE
12| 2| 6 | 24 3,400 277,132|FSEHEK (KE) 6A % BEHEAE
13| 2| 6 | 26 50,600 226,532 KHBEIE 31 SR (KH) LR E
14| 2| 6 | 26 3,093 223439|FHBEHEAK(KXH) 685 BEHEAE
151 2] 6 |29 3,838 219,601 |REEHFEMK (XH) 685 ENBAE
16| 2| 6 |29 23,250| 196,351 |#ERBEIEFE 205 FNRIK (FFA) L&
17127 3 6,264 190,087|/3\Ya ) —ZAH (v—)TA % BERMERE
181 2| 7|25 3,400 186,687 |FescHT MK (KE) 7TA % BEHEAE
191 2] 7|26 3,093 183594 |EHFEAK (XH) 7TAR ENBAE
200 2| 7|27 3,838 179,756|RE A#FEMK (KH) 7A % BEHEAE
2112 8| 3 6,264 173,492|/X\ya ) —ZAH (v—F)8A % BERMERE
2228 4 2,200 171,292|F)oB3—) =X (Fv/>) 1RH BERMERE
23| 2| 8 | 24 2,200 169,092|F)2A—1)—ZXF (F+v/>) 8AH BERMERE
24 2| 8|25 3,400| 165,692|FScHEMN (KA) 8A L BEHEAE
25 2| 8| 26 3,093 162,599|E HFEMK (KXH) 8L BENBAE
26| 2| 8 |27 3,838 158,761|RE A#EMK (KH) 8A R BEHEAE
27121 9| 3 6,264 152,497|/\ya ) —H (r—T)9A % BERMERE
28 2] 9|10 2,200 150,297|F)2B—1)—ZAF (F+v/>) 9RH BERMERE
291 2| 9| 24 3,400| 146,897|85c#EM (KHA) 9A L BEMEAE
30| 2| 928 3,838 143,059|REA#FEMK (KH) 9A R BEHEAE
31| 2|10] 5 6,264 136,795|/\Va ) —H (r—)10AH BERMERE
32(2|10] 5 23,250 113545\ KRBIEFE 21 SR (FFA) LHE
33[2]10] 25 3,400| 110,145|FE5cHEMN (KA) 10A % BENBAE
2 110] 26| 360,000 470,145\ 75 EENE (THH159)
34 2|10 27 3,838| 466,307|RE HFTEMN (KH) 10A% BENBAE
35 2|10 29 2,200 464,107|F)3—1)—Z# (Fv/>) 10A5 BERMERE
a [ 720,000 255893 464,107




BBEHENIREE (TH2EE) KikE SR
No. | B | B |IRAEEE | XHE%E | %S 1 C:3 X HFE
464,107

36(2(11] 4 6,264 457,843|/X\Ya ) —RAH (v—N11BH BERMERE
37| 2|11 16 2,200 455643| 7 A—1)—ZRf (Fv/V) 11AH BERMERE
38| 2|11]25 3,400| 452,243|FESEHEMNR (KA) 1A% BEHEAE
39 2|11 27 3,838| 448405|REHFTEMN (KHA) 1A% ENBAE
40| 2|12] 3 6,264 442,141/ ) —RAH (v— 1285 BERMERE
41| 2 (12] 10 2,200 439,941|FYoA—1)—Zf (Fv/>) 1259 BERMERE
42| 2|12 22 3,400 436,541 |FEcH MK (KE) 1259 BEHEAE
43| 2 [ 12| 28 3,838 432,703|REA#FHEMR (KH) 12A% BENBAE
44131 | 4 6,264 426,439|/XYa ) =R (v—N1A% BERMERE
45131 | 7 20,150 406,289 [EARBERRIEFE 225 HIRIE (FEA) L#HE

46| 3| 1|19 2,200 404,089|F)B—1)—ZAF (Frv/V) 1A BERMERE
4713 1|23 3,400 400,689 |FEscH MK (KH) 1A% BENBAE
48 3| 1 |27 3,838 396,851|RE AR (KH) 1A% BEHEAE
4913|213 6,264 390,587|/X\Va ) —ZAH (I v—T) 2A% BERMERE
50 3| 2|16 2,200 388,387|F)AR—)—ZAF(Fr¥/V) 2RH BERMERE
51| 3] 2| 22 3,400 384,987|FmTHEMNK (KH) 2A % BENBAE
52 3| 3| 1 3,838 381,149|REA#FEK (KH) 2A % BEHEAE
53/ 3| 3| 3 6,264 374,885|/X\ya ) —ZAf (L v—T) 3AH BERMERE
54 3| 3|15 2,200 372,685|F)B—1)—ZAF (Fv/V) 3RS BERMERE
55 3] 3|18 98,560 274,125\ KHBIEFE32S IR (KH) L#HE

56 3| 3|23 3,400 270,725|FscHT MR (KE) 3AH BEHMEAE
57 3| 3|25 20,150 250575|HBAREBRBIEF23FHIRE (FBXK) LR E

58 3| 3|29 3,838| 246,737|REEHFEAN (XHE) 3/ BEHEAE

a8 F 720,000 473263 246,737




